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https://www.100test.com/kao_ti2020/142/2021_2022_CCNA_E8_A

F_95_E9_A2_98_c101_142348.htm a network administrator is

planning a network installation for a large organization. ther design

requires 100 separate subnetworks, so the company has acquired a

class b network address. what subnet mask will provide the 100

subnetworks required, if 500 usable host addresses are required per

subnet?a. 255.255.240.0b. 255.255.248.0c. 255.255.252.0d.

255.255.254.0e. 255.255.255.0f. 255.255.255.192answer: da network

is very congested. currently all the devices are connected through a

hub. which solution would best decrease congestion on the

network?a. add a second hub.b. replace the hub with a router.c.

replace the hub with a switch.d. replace the hub with a

repeater.answer: b。分析：router可以隔离广播。用switch其实

也可以，必须注明使用vlan，但题里没说。 100Test 下载频道

开通，各类考试题目直接下载。详细请访问 www.100test.com 


